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CALCULATION PRACTICE —

Formulas and Constants
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1. Sketch the clectron energy levels e
rough n-5) or he e
hydrogen atom. usv

2. Calculate the energy of an electron in the n=2 energy level of hydrogen. Calculate the energy of an
clectron in the n=3 energy level. Whatis the ifference in energy of these two levels? Ifa photon of

fropertyated smetysmmiteg PP
[y 1oL ml_mi“___mj—i%vm"ﬁ P

! .
oz s0ue™T Xk b _laptwio S Y2008 vt )

R TYR7TTL
E w3 ) lezse 2
3. Use the Rydberg equation above to calculate the wavelength of a phot - How dots this

compare with your answer in question 27
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4. An electron moves from the n=3 t0 the n=1 quantum level and emits a photon with an energy of 2.093
X 10-18 J. How much energy must the atom absorb to move an electron from n=1 o 057 Whatis

the wavelength of this energy? fttonas T3 Y (2328 et )
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5. An electron moves with a velocity of 2.5 x 10° cm/s. What s its wavelength? (The mass of an

electron is 9.109 x 107 g)
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. Calelatethe wavelength (i nanometes) asociated with a 1.0 x 10 gl bl moving at 30, s

(about 67 mph). How fast must the ball travel to have a wavelength of 5.6,x 107 nm?-———
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